

Congruence Pairs of Decomposable MS-Algebras*

Sanaa El-ASSAR¹ Abd El-Mohsen BADAWEY¹

Abstract In this paper, the authors first introduce the concept of congruence pairs on the class of decomposable MS-algebras generalizing that for principal MS-algebras (see [13]). They show that every congruence relation θ on a decomposable MS-algebra L can be uniquely determined by a congruence pair (θ_1, θ_2) , where θ_1 is a congruence on the de Morgan subalgebra $L^{\circ\circ}$ of L and θ_2 is a lattice congruence on the sublattice $D(L)$ of L . They obtain certain congruence pairs of a decomposable MS-algebra L via central elements of L . Moreover, they characterize the permutability of congruences and the strong extensions of decomposable MS-algebras in terms of congruence pairs.

Keywords MS-Algebras, Decomposable MS-algebras, Congruence pairs, Strong extension, Permutability, Congruence lattices

2010 MR Subject Classification 06D05, 06D30.

1 Introduction

Blyth and Varlet [18] studied Morgan Stone algebras (briefly MS-algebras) as a generalization of the classes of de Morgan and Stone algebras. Such algebras are bounded distributive lattices with additional unary operation. Blyth and Varlet [19] described the lattice of subvarieties of the variety **MS** of all MS-algebras. Badawy, Guffova and Haviar [12] introduced and characterized the class of decomposable MS-algebras by means of decomposable MS-triples. They observed that every decomposable MS-algebra L has two auxiliary substructures, namely, the de Morgan subalgebra $L^{\circ\circ}$ of all closed elements of L and the sublattice $D(L)$ of all dense elements of L . Also, they introduced and characterized principal MS-algebras by means of principal MS-triples. They observed that the class of decomposable MS-algebras contains the class of principal MS-algebras. Badawy [1–7] investigated a relationship between congruences and special filters of a principal MS-algebra and a decomposable MS-algebra, respectively. Also, Badawy and El-Fawal [9] studied homomorphisms and subalgebras of decomposable MS-algebras in terms of decomposable MS-triples. Recently, Badawy and Atallah [8] introduced and characterized the set $B(L)$ of all central elements of an MS-algebra L and established the relationship between its MS-intervals and congruences. For recent studies of (decomposable) MS-algebras and double MS-algebras see also [2, 4–6, 10–11, 14–15, 23, 25, 31].

Manuscript received February 6, 2020. Revised May 12, 2020.

¹Department of Mathematics, Faculty of Science, Tanta University, Tanta, Egypt.

E-mail: sanaa.elassar@science.tanta.edu.eg abdel-mohsen.mohamed@science.tanta.edu.eg

*This work was supported by 2nd International Conference for Mathematics, Statistics and Information Technology (ICMSIT for short) that held in the Faculty of Science, Tanta University, Egypt, 18–20 December, 2018.

In this paper, we introduce a suitable notion of congruence pairs of decomposable MS-algebras which is a generalization of the notion of congruence pairs of both Stone algebras and principal MS-algebras. We study many properties of congruence pairs of a decomposable MS-algebra. We derive that every congruence relation θ on a decomposable MS-algebra L can be represented by a pair of congruences (θ_1, θ_2) , where $\theta_1 \in \text{Con}(L^{\circ\circ})$ and $\theta_2 \in \text{Con}(D(L))$. We establish that there is a one to one correspondence between the lattice $\text{Con}(L)$ of all congruences of L and the lattice $A(L)$ of all congruence pairs of L . Also, we investigate the relationship between the central elements of a decomposable MS-algebra L and the congruence pairs of the form $(\theta[a \downarrow], \theta[a\varphi(L)])$ for $a \in L^{\circ\circ}$. Using the concept of congruence pairs, we prove that a decomposable MS-algebra L is congruence permutable if and only if both $L^{\circ\circ}$ and $D(L)$ are congruence permutable. If L is a subalgebra of a decomposable MS-algebra L_1 , we show that L_1 is a strong extension of L if and only if $L_1^{\circ\circ}$ is a strong extension of $L^{\circ\circ}$ and $D(L_1)$ is a strong extension of $D(L)$.

2 Preliminaries

In this section, we give the definitions and the main results which are needed through this work. We refer the readers to [8–9, 12–13, 18–20, 29–31] for more details.

A de Morgan algebra is an algebra $(L; \vee, \wedge, \bar{}, 0, 1)$ of type $(2, 2, 1, 0, 0)$, where $(L; \vee, \wedge, 0, 1)$ is a bounded distributive lattice and $\bar{}$ is the unary operation of involution satisfying:

$$\overline{\overline{x}} = x, \quad \overline{(x \vee y)} = \overline{x} \wedge \overline{y}, \quad \overline{(x \wedge y)} = \overline{x} \vee \overline{y}.$$

A Stone algebra is a universal algebra $(L; \vee, \wedge, *, 0, 1)$ of type $(2, 2, 1, 0, 0)$, where the unary operation $*$ of pseudocomplementation has the properties that $x \wedge a = 0 \Leftrightarrow x \leq a^*$ and $x^{**} \vee x^* = 1$.

An MS-algebra is an algebra $(L; \vee, \wedge, \circ, 0, 1)$ of type $(2, 2, 1, 0, 0)$, where a unary operation \circ satisfies :

$$x \leq x^{\circ\circ}, \quad (x \wedge y)^{\circ} = x^{\circ} \vee y^{\circ}, \quad 1^{\circ} = 0.$$

The class **MS** of all MS-algebras is equational. A de Morgan algebra is an MS-algebra satisfying the identity, $x = x^{\circ\circ}$. The class **S** of Stone algebras is a subclass of **MS** and is characterized by the identity $x \wedge x^{\circ} = 0$.

We recall some of the basic properties of MS-algebras which were proved in [18] or [20].

Theorem 2.1 *For any two elements a, b of an MS-algebra L , we have*

- (1) $0^{\circ} = 1$,
- (2) $a \leq b \Rightarrow b^{\circ} \leq a^{\circ}$,
- (3) $a^{\circ\circ\circ} = a^{\circ}$,
- (4) $(a \vee b)^{\circ} = a^{\circ} \wedge b^{\circ}$,
- (5) $(a \vee b)^{\circ\circ} = a^{\circ\circ} \vee b^{\circ\circ}$,
- (6) $(a \wedge b)^{\circ\circ} = a^{\circ\circ} \wedge b^{\circ\circ}$.

We recall special subsets of an MS-algebra L which play an important role in the construction:

- (1) $L^{\circ\circ} = \{x \in L : x = x^{\circ\circ}\}$ is the set of closed elements of L which is a de Morgan subalgebra of L (see [18]),
 - (2) $D(L) = \{x \in L : x^{\circ} = 0\}$ is the set of dense elements of L which is a filter of L (see [12]),
 - (3) $a \uparrow = \{x \in L : x \geq a\}$ is the principal filter of L generated by the element a of L ,
 - (4) $a \downarrow = \{x \in L : x \leq a\}$ is the principal ideal of L generated by the element a of L .
- Now, we recall from [12] the definition of a decomposable MS-algebra and some related properties.

Definition 2.1 (see [12]) *An MS-algebra $(L; \vee, \wedge, \circ, 0, 1)$ is called a decomposable MS-algebra if for every $x \in L$ there exists $d \in D(L)$ such that $x = x^{\circ\circ} \wedge d$.*

The class of decomposable MS-algebras contains both the class **M** of all de Morgan algebras and the class **S** of all Stone algebras.

Let L be a decomposable MS-algebra. Define a map $\varphi(L) : L^{\circ\circ} \rightarrow F(D(L))$ (the lattice of all filters of $D(L)$) by

$$a\varphi(L) = a^{\circ} \uparrow \cap D(L), \quad \text{for all } a \in L^{\circ\circ}.$$

It is known that $\varphi(L)$ is a (0,1)-lattice homomorphism (see [12]).

An equivalence relation θ on a lattice L is called a lattice congruence on L if it is compatible with the lattice operations, that is, $(a, b) \in \theta$ and $(c, d) \in \theta$ imply $(a \vee c, b \vee d) \in \theta$ and $(a \wedge c, b \wedge d) \in \theta$.

Let θ be a lattice congruence on a bounded lattice (a lattice with the smallest element 0 and the greatest element 1) L . Then the subset $\{x \in L : (x, 0) \in \theta\}$ is called the Kernel of θ and is denoted by $\text{Ker } \theta$. Also, the subset $\{x \in L : (x, 1) \in \theta\}$ is called the Cokernel of θ and is denoted by $\text{Coker } \theta$. It is clear that $\text{Ker } \theta$ and $\text{Coker } \theta$ are ideal and filter of L , respectively.

Theorem 2.2 (see [26]) *An equivalence relation on a lattice L is a lattice congruence on L if and only if $(a, b) \in \theta$ implies $(a \vee c, b \vee c) \in \theta$ and $(a \wedge c, b \wedge c) \in \theta$ for all $c \in L$.*

A lattice congruence θ on an MS-algebra $(L; \circ)$ is called a congruence on L if $(a, b) \in \theta$ implies $(a^{\circ}, b^{\circ}) \in \theta$.

The symbols ∇_L and Δ_L will be used, as usual, for the universal congruence $L \times L$ and the equality congruence on L , respectively.

Let L be an MS-algebra. Then, we use $\text{Con}(L)$ to denote the congruence lattice of L and we also use $\theta_{L^{\circ\circ}}, \theta_{D(L)}$ to denote the restrictions of a congruence $\theta \in \text{Con}(L)$ to $L^{\circ\circ}$ and $D(L)$, respectively. Evidently, $(\theta_{L^{\circ\circ}}, \theta_{D(L)}) \in \text{Con}(L^{\circ\circ}) \times \text{Con}(D(L))$.

Now, we restrict the definition of a congruence pair of quasi-modular p -algebras (see [29, Definition 7]) to Stone algebras.

Definition 2.2 *Let L be a Stone algebra. Then the pair $(\theta_1, \theta_2) \in \text{Con}(L^{\circ\circ}) \times \text{Con}(D(L))$ is called a congruence pair if $a \in L^{\circ\circ}, u \in D(L), u \geq a$ and $a \equiv 1(\theta_1)$ imply $u \equiv 1(\theta_2)$.*

Definition 2.3 (see [12]) *An MS-algebra $(L; \vee, \wedge, \circ, 0, 1)$ is called a principal MS-algebra if it satisfies the following conditions:*

- (i) *The filter $D(L)$ is principal, i.e., there exists an element $d_L \in L$ such that $D(L) = [d_L]$,*

(ii) $x = x^{\circ\circ} \wedge (x \vee d_L)$ for any $x \in L$.

It is known that any principal MS-algebra is a decomposable MS-algebra (see [12]). From [13], we recall the definition of a congruence pair of a principal MS-algebra.

Definition 2.4 (see [13]) *Let L be a principal MS-algebra with a smallest dense element d_L . A pair of congruences $(\theta_1, \theta_2) \in \text{Con}(L^{\circ\circ}) \times \text{Con}(D(L))$ will be called a congruence pair if*

$$(a, b) \in \theta_1 \text{ implies } (a \vee d_L, b \vee d_L) \in \theta_2.$$

3 Congruence Pairs of a Decomposable MS-Algebra

The notion of a congruence pair was studied on various classes of algebras containing the class **S** of all Stone algebras. Katriňák [27, 29] studied the congruence pairs and the lattices of congruence pairs of certain p -algebras, El-Assar [21] characterized the congruence lattices of quasi-modular p -algebras, Badawy and Shume [16] considered the congruence pairs and related properties of principal p -algebras. Also, Badawy [3] presented a characterization of the congruence lattices of principal p -algebras. Beazear [17] introduced the notion of congruence pairs on MS-algebras from the subvariety **K**₂ (K_2 -algebras). Recently, Badawy, Haviar and Ploščica [13] studied the concept of congruence pairs of principal MS-algebras. Also, they characterized the congruence lattices of principal MS-algebras in terms of congruence pairs.

In this section we introduce the concept of congruence pairs on decomposable MS-algebras generalizing that for principal MS-algebras. Some properties of congruence pairs of a decomposable MS-algebra L will be investigated.

Definition 3.1 *Let L be a decomposable MS-algebra. An arbitrary pair (θ_1, θ_2) in $\text{Con}(L^{\circ\circ}) \times \text{Con}(D(L))$ is called a congruence pair if $a \equiv b(\theta_1)$ implies $a \vee d \equiv b \vee d(\theta_2)$ for all $d \in D(L)$.*

It is clear that if L is a principal MS-algebra with a smallest dense element d_L , then Definition 2.6 implies Definition 3.1.

Lemma 3.1 *Let L be a decomposable MS-algebra and (θ_1, θ_2) be a congruence pair. Then we have the following property:*

$$a \equiv b(\theta_1) \text{ and } c \equiv d(\theta_2) \text{ imply } a \vee c \equiv b \vee d(\theta_2).$$

Proof Let $a \equiv b(\theta_1)$. Thus by Definition 3.1, we get $a \vee c \equiv b \vee c(\theta_2)$, $a \vee d \equiv b \vee d(\theta_2)$ and hence $a \vee c \vee d \equiv b \vee c \vee d(\theta_2)$ as $c, d, c \vee d \in D(L)$. Then $a \vee c \equiv b \vee c(\theta_2)$ and $c \equiv d(\theta_2)$ imply $a \vee c \equiv b \vee c \vee d$. Also $a \vee d \equiv b \vee d(\theta_2)$ and $c \equiv d(\theta_2)$ imply $a \vee c \vee d \equiv b \vee d(\theta_2)$. Consequently $a \vee c \equiv b \vee d(\theta_2)$.

For a Stone algebra, the following lemma shows that Definitions 2.4 and 3.1 are equivalent.

Lemma 3.2 *Let L be a Stone algebra. Then $(\theta_1, \theta_2) \in \text{Con}(L^{\circ\circ}) \times \text{Con}(D(L))$ is a congruence pair according to Definition 2.4 if and only if it is a congruence pair by Definition 3.1.*

Proof Let L be a Stone algebra. Then $L^{\circ\circ}$ is a Boolean subalgebra of L . Thus $a \vee a^{\circ} = 1$ for all $a \in L^{\circ\circ}$. Let $(\theta_1, \theta_2) \in \text{Con}(L^{\circ\circ}) \times \text{Con}(D(L))$ be a congruence pair by Definition 2.4.

Suppose that $a \equiv b(\theta_1)$. Let $\alpha = (a \vee b^\circ) \wedge (a^\circ \vee b)$. Then $\alpha \in L^{\circ\circ}$ and $\alpha \wedge a = \alpha \wedge b = a \wedge b$. Since $a \vee b^\circ \equiv b \vee b^\circ(\theta_1) = 1$ and $a^\circ \vee b \equiv a^\circ \vee a(\theta_1) = 1$, we have $\alpha \equiv 1(\theta_1)$ and by Definition 2.4, $\alpha \leq \alpha \vee d \in D(L)$ implies $\alpha \vee d \equiv 1(\theta_2)$ for all $d \in D(L)$. Since L is a distributive lattice, we have

$$a \vee d = (a \vee d) \wedge 1 \equiv (a \vee d) \wedge (\alpha \vee d)(\theta_2) = (a \wedge \alpha) \vee d = (a \wedge b) \vee d.$$

In a similar way, we get $b \vee d \equiv (a \wedge b) \vee d(\theta_2)$. Thus $a \vee d \equiv b \vee d(\theta_2)$. For the converse, let $a \in L^{\circ\circ}$, $a \leq u \in D(L)$ and $a \equiv 1(\theta_1)$. Then we have $a \vee d \equiv 1 \vee d(\theta_2)$ for all $d \in D(L)$ by Definition 3.1. Without loss of generality we can take $u \geq d$. Then $u = a \vee d \vee u \equiv 1 \vee u \vee d(\theta_2) = 1$. Therefore (θ_1, θ_2) is a congruence pair according to Definition 2.4.

The following theorem gives one of the main results of this paper. We give a characterization of congruence pairs of a decomposable MS-algebra.

Theorem 3.1 *Let L be a decomposable MS-algebra. Then every congruence relation θ of L determines a congruence pair $(\theta_{L^{\circ\circ}}, \theta_{D(L)})$. Conversely, every congruence pair (θ_1, θ_2) uniquely determines a congruence relation θ on L satisfying $\theta_{L^{\circ\circ}} = \theta_1$ and $\theta_{D(L)} = \theta_2$ by the rule*

$$x \equiv y(\theta) \text{ if and only if } x^{\circ\circ} \equiv y^{\circ\circ}(\theta_1) \text{ and } x \vee d \equiv y \vee d(\theta_2) \text{ for all } d \in D(L).$$

Proof Let $\theta \in \text{Con}(L)$ and $a \equiv b(\theta_{L^{\circ\circ}})$ for $a, b \in L^{\circ\circ}$. Then $a \equiv b(\theta)$. This result implies that $a \vee d \equiv b \vee d(\theta)$. Hence, $a \vee d \equiv b \vee d(\theta_{D(L)})$, where $a \vee d, b \vee d \in D(L)$. This shows that $(\theta_{L^{\circ\circ}}, \theta_{D(L)})$ is a congruence pair. Conversely, let (θ_1, θ_2) be a congruence pair and let θ be defined as above. It is clear that θ is an equivalence relation. We now proceed to show that θ is a congruence on L . Let $a \equiv b(\theta)$ and $c \equiv f(\theta)$. Then we get $a^{\circ\circ} \equiv b^{\circ\circ}(\theta_1), c^{\circ\circ} \equiv f^{\circ\circ}(\theta_1)$ and $a \vee d \equiv b \vee d(\theta_2), c \vee d \equiv f \vee d(\theta_2)$ for all $d \in D(L)$. Now, we have

$$\begin{aligned} (a \wedge c)^{\circ\circ} &= a^{\circ\circ} \wedge c^{\circ\circ} \equiv b^{\circ\circ} \wedge f^{\circ\circ}(\theta_1) = (b \wedge f)^{\circ\circ}, \\ (a \wedge c) \vee d &= (a \vee d) \wedge (c \vee d) \equiv (b \vee d) \wedge (f \vee d)(\theta_2) = (b \wedge f) \vee d \text{ for all } d \in D(L). \end{aligned}$$

Then $a \wedge c \equiv b \wedge f(\theta)$, and therefore θ preserves the meet operation of L . Also, θ preserves the join operation of L since the following equalities hold on L :

$$\begin{aligned} (a \vee c)^{\circ\circ} &= a^{\circ\circ} \vee c^{\circ\circ} \equiv b^{\circ\circ} \vee f^{\circ\circ}(\theta_1) = (b \vee f)^{\circ\circ}, \\ (a \vee c) \vee d &= (a \vee d) \vee (c \vee d) \equiv (b \vee d) \vee (f \vee d)(\theta_2) = (b \vee f) \vee d, \quad \forall d \in D(L). \end{aligned}$$

In order to show that θ preserves the unary operation $^\circ$, we let $a \equiv b(\theta)$, then $a^{\circ\circ} \equiv b^{\circ\circ}(\theta_1)$. Hence, $a^\circ = a^{\circ\circ\circ} \equiv b^{\circ\circ\circ}(\theta_1) = b^\circ$. Thus by Definition 3.1, we have shown that $a^\circ \vee d \equiv b^\circ \vee d(\theta_2)$ for all $d \in D(L)$. Therefore, $a^\circ \equiv b^\circ(\theta)$.

Now, we proceed to show that $\theta_{L^{\circ\circ}} = \theta_1$ and $\theta_{D(L)} = \theta_2$. If $a, b \in L^{\circ\circ}$ and $a \equiv b(\theta_1)$, then $a^{\circ\circ} \equiv b^{\circ\circ}(\theta_1)$ and $a \vee d \equiv b \vee d(\theta_2)$, the latter holds by Definition 3.1 since (θ_1, θ_2) is a congruence pair. It follows that $a \equiv b(\theta_{L^{\circ\circ}})$, thus $\theta_1 \leq \theta_{L^{\circ\circ}}$. The inequality $\theta_{L^{\circ\circ}} \leq \theta_1$ as well as the equality $\theta_{D(L)} = \theta_2$ follow straight from the definition of θ . For the uniqueness of θ , let θ and $\acute{\theta}$ be two congruences on L with $\theta_{L^{\circ\circ}} = \acute{\theta}_{L^{\circ\circ}} = \theta_1$ and $\theta_{D(L)} = \acute{\theta}_{D(L)} = \theta_2$. Let $x \equiv y(\theta)$. Then $x^{\circ\circ} \equiv y^{\circ\circ}(\theta_{L^{\circ\circ}})$ and $x \vee d \equiv y \vee d(\theta_{D(L)})$. Now, we have $x^{\circ\circ} \equiv y^{\circ\circ}(\acute{\theta}_{L^{\circ\circ}})$ and

$x \vee d \equiv y \vee d(\theta_{D(L)})$ for all $d \in D(L)$. Thus $x \equiv y(\theta)$ and $\theta \leq \theta$. Similarly, we can prove that $\theta \leq \theta$. Hence $\theta = \theta$ and our proof is completed.

Corollary 3.1 *Let L be a decomposable MS-algebra. Then the set $A(L)$ of congruence pairs of L is a bounded sublattice of $\text{Con}(L^\circ) \times \text{Con}(D(L))$ and $\theta \mapsto (\theta_{L^\circ}, \theta_{D(L)})$ is an isomorphism of $\text{Con}(L)$ and $A(L)$.*

Proof It is clear that $(\Delta_{L^\circ}, \Delta_{D(L)}), (\nabla_{L^\circ}, \nabla_{D(L)}) \in A(L)$. Let $(\theta_1, \theta_2), (\psi_1, \psi_2) \in A(L)$. Then, it is easy to verify that $(\theta_1 \wedge \psi_1, \theta_2 \wedge \psi_2) \in A(L)$. Now, we proceed to show that $(\theta_1 \vee \psi_1, \theta_2 \vee \psi_2) \in A(L)$. Let $a \equiv b(\theta_1 \vee \psi_1)$. Then there is a finite sequence $a = a_0, a_1, \dots, a_n = b$ in L° such that, for each i with $0 \leq i \leq n - 1$, either $a_{i-1} \equiv a_i(\theta_1)$ or $a_i \equiv a_{i+1}(\psi_1)$. Then $a_{i-1} \vee d \equiv a_i \vee d(\theta_2)$ or $a_i \vee d \equiv a_{i+1} \vee d(\psi_2)$, for every $d \in D(L)$ by Definition 3.1. Thus we have the sequence

$$a \vee d = a_0 \vee d, a_1 \vee d, \dots, a_n \vee d = b \vee d \quad \text{in } D(L).$$

The above result leads to $a \vee d \equiv b \vee d(\theta_2 \vee \psi_2)$ and hence $(\theta_1 \vee \psi_1, \theta_2 \vee \psi_2) \in A(L)$. Thus we conclude that $A(L)$ is a bounded sublattice of $\text{Con}(L^\circ) \times \text{Con}(D(L))$. It is clear that the map $\theta \mapsto (\theta_{L^\circ}, \theta_{D(L)})$ of $\text{Con}(L)$ into $A(L)$ is an isomorphism.

The next corollary follows immediately.

Corollary 3.2 *Let L be a decomposable MS-algebra. Then the following statements hold:*

- (1) $(\forall \Phi \in \text{Con}(D(L)))(\Delta_{L^\circ}, \Phi) \in A(L)$,
- (2) $(\forall \Psi \in \text{Con}(L^\circ))(\Psi, \nabla_{D(L)}) \in A(L)$.

4 Congruence Pairs via Central Elements of a Decomposable MS-algebra

In this section, we investigate the relationship between the central elements of a decomposable MS-algebra L and the congruence pairs of L .

From [8], we recall the following.

Definition 4.1 (see [8]) *An element a of an MS-algebra L is called a central element of L if $a \vee a^\circ = 1$. The set of all central elements of L is denoted by $B(L)$.*

Theorem 4.1 (see [8]) *Let L be an MS-algebra. Then $B(L)$ is a Boolean subalgebra of L° .*

For each central element a of an MS-algebra L , we define a relation $\theta[a \downarrow]$ on L° as follows:

$$(x, y) \in \theta[a \downarrow] \Leftrightarrow x \wedge a^\circ = y \wedge a^\circ.$$

For each central element a of a decomposable MS-algebra L , we define a relation $\theta[a\varphi(L)]$ on $D(L)$ as follows:

$$(x, y) \in \theta[a\varphi(L)] \Leftrightarrow x \wedge d = y \wedge d \quad \text{for some } d \in a\varphi(L).$$

The properties of the above two relations are given in the following two lemmas, respectively.

Lemma 4.1 *Let L be an MS-algebra. Then for every a, b of $B(L)$, we have*

- (1) $\theta[a \downarrow]$ is a congruence on L° with $\text{Ker}(\theta[a \downarrow]) = a \downarrow$,
- (2) $a \leq b$ if and only if $\theta[a \downarrow] \subseteq \theta[b \downarrow]$,
- (3) $a = b$ if and only if $\theta[a \downarrow] = \theta[b \downarrow]$,
- (4) $\theta[0 \downarrow] = \Delta_{L^\circ}$ and $\theta[1 \downarrow] = \nabla_{L^\circ}$,
- (5) $\theta[a \downarrow] \vee \theta[b \downarrow] = \theta[(a \vee b) \downarrow]$,
- (6) $\theta[a \downarrow] \cap \theta[b \downarrow] = \theta[(a \wedge b) \downarrow]$.

Proof (1) It is clear that $\theta[a \downarrow]$ is an equivalence relation on L° for every $a \in B(L)$. Now let $(x, y) \in \theta[a \downarrow]$ and $c \in L^\circ$. Then $x \wedge a^\circ = y \wedge a^\circ$ and hence

$$\begin{aligned} (x \vee c) \wedge a^\circ &= (x \wedge a^\circ) \vee (c \wedge a^\circ) \\ &= (y \wedge a^\circ) \vee (c \wedge a^\circ) \\ &= (y \vee c) \wedge a^\circ. \end{aligned}$$

Therefore $(x \vee c, y \vee c) \in \theta[a \downarrow]$ for all $c \in L^\circ$. Also, we can deduce that $(x \wedge c, y \wedge c) \in \theta[a \downarrow]$. Then by Theorem 2.6, $\theta[a \downarrow]$ is a lattice congruence on L° . To show that $\theta[a \downarrow]$ is preserved by a unary operation $^\circ$ on L° , let $(x, y) \in \theta[a \downarrow]$. Then we have:

$$\begin{aligned} (x, y) \in \theta[a \downarrow] &\Rightarrow x \wedge a^\circ = y \wedge a^\circ \\ &\Rightarrow (x \wedge a^\circ) \vee a = (y \wedge a^\circ) \vee a \\ &\Rightarrow (x \vee a) \wedge (a^\circ \vee a) = (y \vee a) \wedge (a^\circ \vee a) \\ &\Rightarrow x \vee a = y \vee a \quad \text{as } a^\circ \vee a = 1 \\ &\Rightarrow (x \vee a)^\circ = (y \vee a)^\circ \\ &\Rightarrow x^\circ \wedge a^\circ = y^\circ \wedge a^\circ \\ &\Rightarrow (x^\circ, y^\circ) \in \theta[a \downarrow]. \end{aligned}$$

Further,

$$\begin{aligned} \text{Ker}(\theta[a \downarrow]) &= \{x \in L^\circ : (x, 0) \in \theta[a \downarrow]\} \\ &= \{x \in L^\circ : x \wedge a^\circ = 0\} \\ &= \{x \in L^\circ : x \leq a\} = a \downarrow, \end{aligned}$$

as $a = a \vee 0 = a \vee (x \wedge a^\circ) = a \vee x$ implies $x \leq a$.

(2) Let $a \leq b$ and $(x, y) \in \theta[a \downarrow]$. Then $x \wedge a^\circ = y \wedge a^\circ$. Thus $x \wedge a^\circ \wedge b^\circ = y \wedge a^\circ \wedge b^\circ$ and $b^\circ \leq a^\circ$ imply $x \wedge b^\circ = y \wedge b^\circ$. So $(x, y) \in \theta[b \downarrow]$ and hence $\theta[a \downarrow] \subseteq \theta[b \downarrow]$. Conversely, let $\theta[a \downarrow] \subseteq \theta[b \downarrow]$. As a is a central element of L , then $(a \wedge b) \wedge a^\circ = 0 = a \wedge a^\circ$. Hence $(a \wedge b, a) \in \theta[a \downarrow]$. By hypotheses, $(a \wedge b, a) \in \theta[b \downarrow]$. Since b is a central element of L , then $(a \wedge b) \wedge b^\circ = a \wedge b^\circ$ implies $a \wedge b^\circ = 0$. Now, since $a \wedge b^\circ = 0$ and a, b belong to the Boolean algebra $B(L)$ then $a \leq b^{\circ\circ} = b$.

(3) It is obvious.

(4) Let $(x, y) \in \theta[0 \downarrow]$. Then $x = x \wedge 0^\circ = y \wedge 0^\circ = y$. Therefore $\theta[0 \downarrow] = \Delta_{L^\circ}$. For all $x, y \in L$, we have $x \wedge 1^\circ = 0 = y \wedge 1^\circ$ and hence $(x, y) \in \theta[1 \downarrow]$. Then $\theta[1 \downarrow] = \nabla_{L^\circ}$.

(5) Since $a, b \leq a \vee b$, then by (2), $\theta[a \downarrow], \theta[b \downarrow] \subseteq \theta[(a \vee b) \downarrow]$. Therefore $\theta[(a \vee b) \downarrow]$ is an upper bound of both $\theta[a \downarrow]$ and $\theta[b \downarrow]$. Suppose that $\theta[c \downarrow]$ is an upper bound of $\theta[a \downarrow]$ and $\theta[b \downarrow]$. Then $\theta[a \downarrow], \theta[b \downarrow] \subseteq \theta[c \downarrow]$. Thus by (2) we get $a, b \leq c$. Then $a \vee b \leq c$. Again by (2), $\theta[(a \vee b) \downarrow] \subseteq \theta[(c) \downarrow]$. Therefore $\theta[(a \vee b) \downarrow]$ is the least upper bound of both $\theta[a \downarrow]$ and $\theta[b \downarrow]$. This deduces that $\theta[a \downarrow] \vee \theta[b \downarrow] = \theta[(a \vee b) \downarrow]$.

(6) Since $a \wedge b \leq a, b$, then by (2), $\theta[(a \wedge b) \downarrow] \subseteq \theta[a \downarrow], \theta[b \downarrow]$. Thus $\theta[(a \wedge b) \downarrow] \subseteq \theta[a \downarrow] \cap \theta[b \downarrow]$. Conversely, let $(x, y) \in \theta[a \downarrow] \cap \theta[b \downarrow]$. Then

$$\begin{aligned} (x, y) \in \theta[a \downarrow] \cap \theta[b \downarrow] &\Rightarrow (x, y) \in \theta[a \downarrow] \text{ and } (x, y) \in \theta[b \downarrow] \\ &\Rightarrow x \wedge a^\circ = y \wedge a^\circ \text{ and } x \wedge b^\circ = y \wedge b^\circ \\ &\Rightarrow (x \wedge a^\circ) \vee (x \wedge b^\circ) = (y \wedge a^\circ) \vee (y \wedge b^\circ) \\ &\Rightarrow x \wedge (a^\circ \vee b^\circ) = y \wedge (a^\circ \vee b^\circ) \quad \text{by distributivity of } L \\ &\Rightarrow x \wedge (a \wedge b)^\circ = y \wedge (a \wedge b)^\circ \\ &\Rightarrow (x, y) \in \theta[(a \wedge b) \downarrow]. \end{aligned}$$

Therefore $\theta[a \downarrow] \cap \theta[b \downarrow] \subseteq \theta[(a \wedge b) \downarrow]$ and hence $\theta[(a \wedge b) \downarrow] = \theta[a \downarrow] \cap \theta[b \downarrow]$.

Lemma 4.2 *Let L be a decomposable MS-algebra. Then for every a, b of $B(L)$, we have*

- (1) $\theta[a\varphi(L)]$ is a congruence on $D(L)$ with $\text{Coker}(\theta[a\varphi(L)]) = a\varphi(L)$,
- (2) $a \leq b$ implies $\theta[a\varphi(L)] \subseteq \theta[b\varphi(L)]$,
- (3) $\theta[(0\varphi(L))] = \Delta_{D(L)}$ and $\theta[1\varphi(L)] = \nabla_{D(L)}$,
- (4) $\theta[a\varphi(L)] \vee \theta[b\varphi(L)] = \theta[(a \vee b)\varphi(L)]$,
- (5) $\theta[a\varphi(L)] \wedge \theta[b\varphi(L)] = \theta[(a \wedge b)\varphi(L)]$.

Proof (1) We know that $a\varphi(L) = a^\circ \uparrow \cap D(L)$ is a filter of $D(L)$. Obviously, $\theta[a\varphi(L)]$ is an equivalence relation on $D(L)$. Let $(x, y), (x', y') \in \theta[a\varphi(L)]$. Thus $x \wedge d = y \wedge d$ and $x' \wedge e = y' \wedge e$ for some $d, e \in a\varphi(L)$. Then

$$\begin{aligned} (x \vee x') \wedge (d \wedge e) &= (x \wedge d \wedge e) \vee (x' \wedge d \wedge e) \\ &= (y \wedge d \wedge e) \vee (y' \wedge d \wedge e) \\ &= (y \vee y') \wedge (d \wedge e) \quad \text{where } d \wedge e \in a\varphi(L). \end{aligned}$$

Hence $(x \vee x', y \vee y') \in \theta[a\varphi(L)]$. Using a similar way, we get $(x \wedge x', y \wedge y') \in \theta[a\varphi(L)]$, so $\theta[a\varphi(L)]$ is lattice congruence on $D(L)$. Also, we have

$$\begin{aligned} \text{Coker}(\theta[a\varphi(L)]) &= \{x \in D(L) : (x, 1) \in \theta[a\varphi(L)]\} \\ &= \{x \in D(L) : x \wedge d = 1 \wedge d = d \text{ for some } d \in a\varphi(L)\} \\ &= \{x \in D(L) : x \geq d \in a\varphi(L)\} \\ &= a\varphi(L). \end{aligned}$$

(2) Let $a \leq b$. Then $a\varphi(L) \subseteq b\varphi(L)$. Let $(x, y) \in \theta[a\varphi(L)]$. Then $x \wedge d = y \wedge d$ for some $d \in a\varphi(L)$. Since $d \in a\varphi(L)$ and $a\varphi(L) \subseteq b\varphi(L)$, then $d \in b\varphi(L)$. So, $(x, y) \in \theta[b\varphi(L)]$. Therefore $\theta[a\varphi(L)] \subseteq \theta[b\varphi(L)]$.

(3) Let $(x, y) \in \theta[0\varphi(L)]$. Since $0\varphi(L) = (1)$, then $x = y$ and hence $\theta[0\varphi(L)] = \Delta_{D(L)}$. Since $1\varphi(L) = D(L)$, then $\theta[1\varphi(L)] = \theta[D(L)] = D(L) \times D(L) = \nabla_{D(L)}$.

(4) Since $a, b \leq a \vee b$, then $a\varphi(L), b\varphi(L) \subseteq (a \vee b)\varphi(L)$. Hence by (2), we have

$$\theta[a\varphi(L)], \theta[b\varphi(L)] \subseteq \theta[(a \vee b)\varphi(L)].$$

Then $\theta[(a \vee b)\varphi(L)]$ is an upper bound of $\theta[a\varphi(L)]$ and $\theta[b\varphi(L)]$. Let $\theta[c\varphi(L)]$ be an upper bound of $\theta[a\varphi(L)]$ and $\theta[b\varphi(L)]$. Then $\theta[a\varphi(L)], \theta[b\varphi(L)] \subseteq \theta[c\varphi(L)]$ implies $a\varphi(L), b\varphi(L) \subseteq c\varphi(L)$. Thus $(a \vee b)\varphi(L) = a\varphi(L) \vee b\varphi(L) \subseteq c\varphi(L)$ and hence $\theta[(a \vee b)\varphi(L)] \subseteq \theta[c\varphi(L)]$. Therefore $\theta[(a \vee b)\varphi(L)]$ is the least upper bound of both $\theta[a\varphi(L)]$ and $\theta[b\varphi(L)]$.

(5) Since $a \wedge b \leq a, b$, then by (2), $\theta[(a \wedge b)\varphi(L)] \subseteq \theta[a\varphi(L)], \theta[b\varphi(L)]$ and hence $\theta[(a \wedge b)\varphi(L)] \subseteq \theta[a\varphi(L)] \cap \theta[b\varphi(L)]$. Conversely, let $(x, y) \in \theta[a\varphi(L)] \cap \theta[b\varphi(L)]$. Then $(x, y) \in \theta[a\varphi(L)]$ and $(x, y) \in \theta[b\varphi(L)]$. Thus $x \wedge d = y \wedge d$ for some $d \in a\varphi(L)$ and $x \wedge e = y \wedge e$ for some $e \in b\varphi(L)$. Since $d \vee e \geq d, e$ and $d \in a\varphi(L), e \in b\varphi(L)$, then $d \vee e \in a\varphi(L) \cap b\varphi(L) = (a \wedge b)\varphi(L)$. Now

$$\begin{aligned} x \wedge (d \vee e) &= (x \wedge d) \vee (x \wedge e) \quad \text{by distributivity of } L \\ &= (y \wedge d) \vee (y \wedge e) \\ &= y \wedge (d \vee e) \quad \text{where } d \vee e \in (a \wedge b)\varphi(L). \end{aligned}$$

Therefore $(x, y) \in \theta[(a \wedge b)\varphi(L)]$ and hence $\theta[a\varphi(L)] \cap \theta[b\varphi(L)] \subseteq \theta[(a \wedge b)\varphi(L)]$.

Let L be a decomposable MS-algebra. Consider the subsets \mathbf{B} and \mathbf{D} of $\text{Con}(L^{\circ\circ})$ and $\text{Con}(D(L))$, respectively as follows:

$$\mathbf{B} = \{\theta[a \downarrow] : a \in B(L)\}, \quad \mathbf{D} = \{\theta[a\varphi(L)] : a \in B(L)\}.$$

The proof of the following theorem is a consequence of Lemmas 4.3–4.4.

Theorem 4.2 *Let L be a decomposable MS-algebra. Then*

- (1) $(\mathbf{B}, \vee, \wedge, ', \Delta_{L^{\circ\circ}}, \nabla_{L^{\circ\circ}})$ is a Boolean algebra, where $(\theta[a \downarrow])' = \theta[a^{\circ} \downarrow]$,
- (2) $(\mathbf{D}, \vee, \wedge, ', \Delta_{D(L)}, \nabla_{D(L)})$ is a Boolean algebra, where $(\theta[a\varphi(L)])' = \theta[a^{\circ}\varphi(L)]$.

Now, we observe that every central element a of a decomposable MS-algebra L associated with the congruence pair $(\theta[a \downarrow], \theta[a\varphi(L)])$.

Theorem 4.3 *Let L be a decomposable MS-algebra and $a \in L^{\circ\circ}$. Then a is a central element of L if and only if $(\theta[a \downarrow], \theta[a\varphi(L)])$ is a congruence pair of L .*

Proof Let a be a central element of L . By Lemmas 4.3(1) and 4.4(1), $\theta[a \downarrow]$ and $\theta[a\varphi(L)]$ are congruences on $L^{\circ\circ}$ and $D(L)$, respectively. To show that $(\theta[a \downarrow], \theta[a\varphi(L)])$ is a congruence pair, let $(b, c) \in \theta[a \downarrow]$. Then

$$\begin{aligned} (b, c) \in \theta[a \downarrow] &\Rightarrow b \wedge a^{\circ} = c \wedge a^{\circ} \\ &\Rightarrow (b \wedge a^{\circ}) \vee d = (c \wedge a^{\circ}) \vee d \quad \text{for all } d \in D(L) \\ &\Rightarrow (b \vee d) \wedge (a^{\circ} \vee d) = (c \vee d) \wedge (a^{\circ} \vee d) \quad \text{where } a^{\circ} \vee d \in [a^{\circ}] \cap D(L) = a\varphi(L) \\ &\Rightarrow (b \vee d, c \vee d) \in \theta[a\varphi(L)]. \end{aligned}$$

Thus $(\theta[a \downarrow], \theta[a\varphi(L)]) \in A(L)$. Conversely, let $(\theta[a \downarrow], \theta[a\varphi(L)]) \in A(L)$. Since $(a, 0) \in \theta[a \downarrow]$, then $a \wedge a^\circ = 0 \wedge a^\circ = 0$. Now, $a \vee a^\circ = (a^\circ \wedge a)^\circ = 0^\circ = 1$. Therefore $a \in B(L)$.

Let L be a decomposable MS-algebra. Consider the set

$$A'(L) = \{(\theta[a \downarrow], \theta[a\varphi(L)]) : a \in B(L)\}.$$

From Theorems 4.5–4.6, we observe the following important results.

Theorem 4.4 *Let L be a decomposable MS-algebra. Then $(A'(L); \vee, \wedge, ', 0_{A'(L)}, 1_{A'(L)})$ is a Boolean algebra, where*

$$\begin{aligned} (\theta[a \downarrow], \theta[a\varphi(L)]) \vee (\theta[b \downarrow], \theta[b\varphi(L)]) &= (\theta[(a \vee b) \downarrow], \theta[(a \vee b)\varphi(L)]), \\ (\theta[a \downarrow], \theta[a\varphi(L)]) \wedge (\theta[b \downarrow], \theta[b\varphi(L)]) &= (\theta[(a \wedge b) \downarrow], \theta[(a \wedge b)\varphi(L)]), \\ (\theta[a \downarrow], \theta[a\varphi(L)])' &= (\theta[a^\circ \downarrow], \theta[a^\circ\varphi(L)]), \\ 1_{A'(L)} &= (\nabla_{L^\circ}, \nabla_{D(L)}), \\ 0_{A'(L)} &= (\Delta_{L^\circ}, \Delta_{D(L)}). \end{aligned}$$

Theorem 4.5 *Let L be a decomposable MS-algebra. Then $B(L)$ is isomorphic to $A'(L)$ under the isomorphism $a \mapsto (\theta[a \downarrow], \theta[a\varphi(L)])$.*

5 Congruence Permutable of Decomposable MS-Algebras

El-Assar [21] studied the notion of n -permutability of congruences of p -algebras satisfying certain condition. Also, El-Assar and Abd El-Hakim [24] characterized the permutability of congruences of modular p -algebras. Badawy and Shume [16] characterized the permutability of congruences of the class of principal p -algebras.

Let L be an algebra. We say that $\theta, \psi \in \text{Con}(L)$ permute if for any $a, b, c \in L$ with $(a, b) \in \theta$ and $(b, c) \in \psi$, there exists $h \in L$ such that $(a, h) \in \psi$ and $(h, c) \in \theta$, that is $\theta \circ \psi = \psi \circ \theta$, where $\theta \circ \psi$ is the relational product of θ and ψ .

An algebra L is said to be congruence permutable (briefly, permutable) if every pair of congruences on it is permutable.

We characterize the congruence permutable of a decomposable MS-algebra in the following theorem.

Theorem 5.1 *Let L be a decomposable MS-algebra. Then the following conditions are equivalent:*

- (1) L has congruence permutable,
- (2) L° and $D(L)$ both are congruence permutable.

Proof To show the equivalence of the conditions (1) and (2), we have to show that two congruences $\theta, \psi \in \text{Con}(L)$ are permutable if and only if their restrictions $\theta_{L^\circ}, \psi_{L^\circ}$ and $\theta_{D(L)}, \psi_{D(L)}$ both are congruence permutable on L° and $D(L)$, respectively. Let θ, ψ be permutable on L . Firstly, we will prove that $\theta_{L^\circ}, \psi_{L^\circ}$ are permutable on L° . Let $a, b, c \in L^\circ$ be such that $(a, b) \in \theta_{L^\circ}$ and $(b, c) \in \psi_{L^\circ}$. Then $(a, b) \in \theta$ and $(b, c) \in \psi$. Since θ, ψ are permutable, then there exists $x \in L$ such that $(a, x) \in \psi$ and $(x, c) \in \theta$. Thus $(a, x^\circ) \in \psi$ and

$(x^{\circ\circ}, c) \in \theta$. Then $(a, x^{\circ\circ}) \in \psi_{L^{\circ\circ}}$ and $(x^{\circ\circ}, c) \in \theta_{L^{\circ\circ}}$ as $x^{\circ\circ} \in L^{\circ\circ}$. Therefore $\theta_{L^{\circ\circ}}, \psi_{L^{\circ\circ}}$ are permutable on $L^{\circ\circ}$. Now we prove that permutability of θ and ψ implies permutability of $\theta_{D(L)}$ and $\psi_{D(L)}$. Let $x, y, z \in D(L)$ be such that $(x, y) \in \theta_{D(L)}$ and $(y, z) \in \psi_{D(L)}$. Then $(x, y) \in \theta$ and $(y, z) \in \psi$. Since θ, ψ are permutable, then there exists $a \in L$ such that $(x, a) \in \psi$ and $(a, z) \in \theta$. Then for every $d \in D(L)$, we have $(x \vee d, a \vee d) \in \psi$ and $(a \vee d, z \vee d) \in \theta$. We can choose $d \leq x, z$. Then $(x, a \vee d) \in \psi_{D(L)}$ and $(a \vee d, z) \in \theta_{D(L)}$ with $a \vee d \in D(L)$. Therefore $\theta_{D(L)}$ and $\psi_{D(L)}$ both are congruence permutable on $D(L)$.

Conversely, let $\theta, \psi \in \text{Con}(L)$ such that $\theta_{L^{\circ\circ}}, \psi_{L^{\circ\circ}}$ and $\theta_{D(L)}, \psi_{D(L)}$ are congruence permutable on $L^{\circ\circ}$ and $D(L)$ respectively. Consider the elements $x, y, z \in L$ with $(x, y) \in \theta$ and $(y, z) \in \psi$. By Theorem 3.4, we get $(x^{\circ\circ}, y^{\circ\circ}) \in \theta_{L^{\circ\circ}}, (y^{\circ\circ}, z^{\circ\circ}) \in \psi_{L^{\circ\circ}}$ and $(x \vee d, y \vee d) \in \theta_{D(L)}, (y \vee d, z \vee d) \in \psi_{D(L)}$ for all $d \in D(L)$. Since $\theta_{L^{\circ\circ}}, \psi_{L^{\circ\circ}}$ are permutable, then there exists $a \in L^{\circ\circ}$ with $(x^{\circ\circ}, a) \in \psi_{L^{\circ\circ}}$ and $(a, z^{\circ\circ}) \in \theta_{L^{\circ\circ}}$. Since $\theta_{D(L)}, \psi_{D(L)}$ are permutable congruences on $D(L)$, then there exists $e \in D(L)$ such that $(x \vee d, e) \in \psi_{D(L)}$ and $(e, z \vee d) \in \theta_{D(L)}$. It follows that

$$(x^{\circ\circ}, a) \in \psi, \quad (a, z^{\circ\circ}) \in \theta, \quad \text{and} \quad (x \vee d, e) \in \psi, \quad (e, z \vee d) \in \theta.$$

Since L is a decomposable MS-algebra, then there exist $d_1, d_2 \in D(L)$ such that $x = x^{\circ\circ} \wedge d_1$ and $z = z^{\circ\circ} \wedge d_2$. Hence $x \leq d_1$ and $z \leq d_2$. Since θ and ψ are compatible with the \wedge operation, then we have

$$(x^{\circ\circ}, a) \in \psi \quad \text{and} \quad (x \vee d_1, e) \in \psi \quad \text{imply} \quad (x, a \wedge e) = (x^{\circ\circ} \wedge (x \vee d_1), a \wedge e) \in \psi,$$

and

$$(a, z^{\circ\circ}) \in \theta \quad \text{and} \quad (e, z \vee d_2) \in \theta \quad \text{imply} \quad (a \wedge e, z) = (a \wedge e, z^{\circ\circ} \wedge (z \vee d_2)) \in \theta.$$

Consequently, we deduce that $(x, a \wedge e) \in \psi$ and $(a \wedge e, z) \in \theta$. Therefore θ, ψ are permutable.

Let L be an MS-algebra. Define the relation Φ on L as follows:

$$(x, y) \in \Phi \Leftrightarrow x^{\circ\circ} = y^{\circ\circ}.$$

It is known that Φ is a congruence relation on L (see [18]). Then Φ satisfies the following property.

Corollary 5.1 *Let L be a decomposable MS-algebra. Then the congruence relation Φ permutes with any element of $\text{Con}(L)$, as $\Phi_{L^{\circ\circ}} = \Delta_{L^{\circ\circ}}$ and $\Phi_{D(L)} = \nabla_{D(L)}$.*

6 Strong Extensions of Decomposable MS-Algebras

It is known that the class of distributive lattices satisfies the Congruence Extension Property (CEP for short) briefly. Luo [30] proved that the class **MS** of all MS-algebras satisfies the CEP. The notion of a strong extension of algebras was first introduced by Varlet [32]. EL-Assar and Abd El-Hakim [24] studied the strong extension for modular p -algebras. Also EL-Assar [22] introduced the strong extension for quasi-modular p -algebras. Now we recall the following two definitions.

Definition 6.1 (see [28]) *An algebra A satisfies the CEP if for every subalgebra B of A and every θ of B , θ extends to a congruence of A .*

Definition 6.2 (see [28]) *An algebra L is said to be a strong extension of the algebra M , if M is a subalgebra of L and every congruence of M has at most one extension to L .*

In the following theorem, we study strong extensions of decomposable MS-algebras using the congruence pairs technique.

Theorem 6.1 *Let L be a subalgebra of a decomposable MS-algebra L_1 . Then L_1 is a strong extension of L if and only if the following conditions hold:*

- (1) $D(L_1)$ is a strong extension of $D(L)$,
- (2) $L_1^{\circ\circ}$ is a strong extension of $L^{\circ\circ}$.

Proof Let L_1 be a strong extension of L . Let $\theta_2 \in \text{Con}(D(L))$. Then θ_2 has an extension to $D(L_1)$. Since CEP holds for the class of distributive lattices, we have to verify that θ_2 has a unique extension to $D(L_1)$. Let $\bar{\theta}_2, \acute{\theta}_2 \in \text{Con}(D(L_1))$ such that $\bar{\theta}_2 \mid D(L) = \acute{\theta}_2 \mid D(L) = \theta_2$. By Corollary 3.6 (1), we have $(\Delta_{L_1^{\circ\circ}}, \bar{\theta}_2), (\Delta_{L_1^{\circ\circ}}, \acute{\theta}_2) \in A(L_1)$ and $(\Delta_{L^{\circ\circ}}, \theta_2) \in A(L)$. By Theorem 3.4, there exist $\bar{\theta}$ and $\acute{\theta} \in \text{Con}(L_1)$ and $\theta \in \text{Con}(L)$ determined by the congruence pairs $(\Delta_{L_1^{\circ\circ}}, \bar{\theta}_2), (\Delta_{L_1^{\circ\circ}}, \acute{\theta}_2)$ and $(\Delta_{L^{\circ\circ}}, \theta_2)$, respectively. Now, we deduce that $\bar{\theta} \mid L = \acute{\theta} \mid L = \theta$, but θ has at most one extension to L_1 . Thus $\bar{\theta} = \acute{\theta}$, and this result leads to $\bar{\theta}_2 = \acute{\theta}_2$, proving (1). Now we prove that $L_1^{\circ\circ}$ is a strong extension of $L^{\circ\circ}$. Let $\theta_1 \in \text{Con}(L^{\circ\circ})$. Then θ_1 has an extension to $L_1^{\circ\circ}$, because the class of de Morgan algebras satisfies the CEP. We will show that this extension is unique. Let $\bar{\theta}_1, \acute{\theta}_1 \in \text{Con}(L_1^{\circ\circ})$ with $\bar{\theta}_1 \mid L^{\circ\circ} = \acute{\theta}_1 \mid L^{\circ\circ} = \theta_1$. Then by Corollary 3.6 (2), it is clear that $(\bar{\theta}_1, \nabla_{D(L_1)})$ and $(\acute{\theta}_1, \nabla_{D(L_1)})$ are congruence pairs of L_1 and $(\theta_1, \nabla_{D(L)})$ is a congruence pair of L . Now, by Theorem 3.4, there exist $\bar{\theta}$ and $\acute{\theta}$ of $\text{Con}(L_1)$ corresponding to $(\bar{\theta}_1, \nabla_{D(L_1)})$ and $(\acute{\theta}_1, \nabla_{D(L_1)})$ respectively and θ of $\text{Con}(L)$ corresponding to $(\theta_1, \nabla_{D(L)})$. Then $\bar{\theta} \mid L = \acute{\theta} \mid L = \theta$, which gives $\bar{\theta}_1 = \acute{\theta}_1$. Therefore $L_1^{\circ\circ}$ is a strong extension of $L^{\circ\circ}$. Conversely, suppose that the conditions (1) and (2) hold and let $\theta \in \text{Con}(L)$. Then θ has an extension to L_1 , because the class of MS-algebras satisfies the CEP. We will show that this extension is unique. Assume that $\bar{\theta}$ and $\acute{\theta}$ of $\text{Con}(L_1)$ such that $\bar{\theta} \mid L = \acute{\theta} \mid L = \theta$. By Theorem 3.4, these can be represented by congruence pairs as $\bar{\theta} = (\bar{\theta}_1, \bar{\theta}_2), \acute{\theta} = (\acute{\theta}_1, \acute{\theta}_2)$ and $\theta = (\theta_1, \theta_2)$, where $\bar{\theta}_1 \mid L^{\circ\circ} = \acute{\theta}_1 \mid L^{\circ\circ} = \theta_1$ and $\bar{\theta}_2 \mid D(L) = \acute{\theta}_2 \mid D(L) = \theta_2$. By the conditions (1) and (2), we get $\bar{\theta}_1 = \acute{\theta}_1$ and $\bar{\theta}_2 = \acute{\theta}_2$. Therefore $\bar{\theta} = \acute{\theta}$.

Corollary 6.1 *Let L_1 and L be decomposable MS-algebras. If L_1 is a strong extension of L , then $\text{Con}(L_1) \cong \text{Con}(L)$.*

Proof Since the class of MS-algebras satisfies the CEP, then every congruence of L has an extension. By hypotheses this extension is unique. Then $\text{Con}(L_1) \cong \text{Con}(L)$.

7 Conclusion

In this paper, we introduced the notion of congruence pairs of decomposable MS-algebras. It is proved that every congruence relation θ on a decomposable MS-algebra L can be represented by a unique congruence pair (θ_1, θ_2) , where θ_1 is a congruence relation on the de Morgan algebra

$L^{\circ\circ}$ and θ_2 is a lattice congruence relation on the lattice $D(L)$. Also, it is observed that $\text{Con}(L)$, the lattice of all congruences of a decomposable MS-algebra L , is isomorphic to $A(L)$, the lattice of all congruence pairs of L . It is observed that there is a one to one correspondence between the set $B(L)$ of central elements of a decomposable MS-algebra L and the set of congruence pairs of the form $(\theta[a \downarrow], \theta[a\varphi(L)])$, where $a \in B(L)$. Permutability of congruences and strong extensions of decomposable MS-algebras are considered in terms of congruence pairs. In a future work, we will describe the congruence lattices of decomposable MS-algebras by means of congruence pairs.

Acknowledgement The authors would like to thank the editors and referees for their valuable comments and suggestions to improve this presentation.

References

- [1] Badawy, A., d_L -Filters of principal MS-algebras, *Journal of the Egyptian Mathematical Society*, **23**, 2015, 463–469.
- [2] Badawy, A., Regular double MS-algebras, *Appl. Math. Inf. Sci.*, **11**(2), 2017, 115–122.
- [3] Badawy, A., Characterization of the congruence lattices of principal p -algebras, *Mathematica Slovaca*, **67**, 2017, 803–810.
- [4] Badawy, A., Constructions of core regular double MS-algebras, *Filomat*, **34**(1), 2018, 35–50.
- [5] Badawy, A., Extensions of the Gilvenko-type congruences on a Stone lattice, *Math. Meth. Appl. Sci.*, **41**, 2018, 5719–5732.
- [6] Badawy, A., Balanced factor congruences of double MS-algebras, *Journal of the Egyptian Mathematical Society*, **27**(6), 2019, 1–15.
- [7] Badawy, A., Congruences and de Morgan filters of decomposable MS-algebras, *Southeast Asian Bulletin of Mathematics*, **43**, 2019, 13–25.
- [8] Badawy, A. and Atallah, M., MS-intervals of an MS-algebra, *Hacet. J. Math. Stat.*, **48**(4), 2019, 1479–1487.
- [9] Badawy, A. and El-Fawal, R., Homomorphism and subalgebras of decomposable MS-algebras, *Journal of Egyptian Mathematical Society*, **25**, 2017, 119–124.
- [10] Badawy, A. and El-Fawal, R., Closure filters of decomposable MS-algebras, *Southeast Asian Bulletin of Mathematics*, **44**, 2020, 177–194.
- [11] Badawy, A. and Gaber, A., Complete decomposable MS-algebras, *Journal of the Egyptian Mathematical Society*, **27**(23), 2019, 1–11.
- [12] Badawy, A., Guffova, D. and Haviar, M., Triple construction of decomposable MS-algebras, *Acta Univ. Palacki. Olomuc., Fac. rer. nat., Mathematica*, **51**(2), 2012, 53–65.
- [13] Badawy, A., Haviar, M. and Ploščica, M., Congruence pairs of principal MS-algebras and perfect extensions, *Mathematica Slovaca*, **70**(6), 2020, 1275–1288.
- [14] Badawy, A., Hussen, S. and Gaber, A., Quadruple construction of decomposable double MS-algebras, *Mathematica Slovaca*, **70**(5), 2020, 1041–1056.
- [15] Badawy, A. and Sambasiva Rao, M., Closure ideas of MS-algebras, *Chamchuri J. Math.*, **6**, 2014, 31–46.
- [16] Badawy, A. and Shum, K. P., Congruence pairs of principal p -algebras, *Mathematica Slovaca*, **67**, 2017, 263–270.
- [17] Beazer, R., Congruence pairs for algebras abstracting Kleene algebras and Stone algebras, *Czechoslovak Math. J.*, **35**, 1985, 260–268.
- [18] Blyth, T. S. and Varlet, J. C., On a common abstraction of de Morgan algebras and Stone algebras, *Proc. Roy. Soc. Edinburgh*, **94A**, 1983, 301–308.
- [19] Blyth, T. S. and Varlet, J. C., Subvarieties of the class of MS-algebras, *Proc. Roy. Soc. Edinburgh*, **95A**, 1983, 157–169.
- [20] Blyth, T. S. and Varlet, J. C., Ockham algebras, Oxford Science Publications, The Clarendon Press, Oxford University Press, New York, 1994.

- [21] El-Assar, S., Two notes of the congruence lattices of p -algebras, *Acta Math. Univ. Comenian.*, **XLVI–XLVII**, 1985, 13–19.
- [22] El-Assar, S., Strong extensions of quasi-modular p -algebras, *Delta J. Sci.*, **12**, 1988, 843–851.
- [23] El-Assar, S. and Badawy, A., Homomorphisms and Subalgebras of MS-algebras, *Quter Univ. Sci. J.*, **15**(2), 1995, 279–289.
- [24] El-Assar, S. and Abdel-Hakim, M., Two notes on modular p -algebras, *Qatar Univ. Sci. Bull.*, **8**, 1988, 23–28.
- [25] Gaber, A., Badawy, A. and Hussen, S., On decomposable MS-algebras, *Italian J. of Pure and Appl. Math.*, **43**, 2020, 617–626.
- [26] Grätzer, G., Lattice theory, first concepts and distributive lattices, Lecture Notes, Freeman, San Francisco, California, 1971.
- [27] Katriňák, T., On a problem of G. Grätzer, *Proc. Amer. Math. Soc.*, **57**(1), 1976, 19–24.
- [28] Katriňák, T., Essential and strong extensions of p -algebras, *Bull. de la Soc. Roy. des Sci. de Liege*, **3–4**, 1980, 119–124.
- [29] Katriňák, T., p -Algebras, Contributions to Lattice Theory, Szeged 1980 *Colloq. Math. Soc Janos Bolyai*, **33**, North-Holland, Amsterden, 1983, 549–573.
- [30] Luo, C. W., The congruence extension property of MS-algebras, *J. Wuhan Univ. Natur. Sci. Ed.*, **44**(3), 1998, 282–284.
- [31] Rao, M. S., and Badawy, A., Filters of lattices with respect to a congruence, *Discussions Mathematics, General Algebra and Applications*, 34 (2014), 211–217.
- [32] Varlet, J. C., A strengthening of the notion of essential extension, *Bull. de la Soc. Roy. des Sci. de Liege*, **11–12**, 1979, 432–437.